Skill check:
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71 Finding
square roots

I is a number that when

I multiplied by itself

equals the given number.
Every positive number has a
positive and a negative
square root.

Perfect square: Is a number with integers
I as its square

roots.




(1 b. Area = 81 yd? C. Area = 324 cm? d. Area = 361 mi?

s s s

e. Area = 225 mi? f. - g Area = gﬁ.‘

The symbol is called a radical sign. It is
I used to represent a square

Elements of a square root

| root. The number under
I At X the radical sign is called the
| § radicand.

Radicand




fExample I:

Finding square roots
of a perfect square

Find the two square

roots of 49

Positive Square Root, \

Negative Square Root, =\

Both Square Roots, +\

V16 =4

V16 = -4

+\16 = +4




ffExample 2:
' Finding square roots:

a) Find the square root of 25

Eb.) Find the square root of

;;c.) Find the square root of

;EPractice:
::Find the two square
roots of the number.

1.) 36
2.) 100
3.) 121




side area area side

12=__ N1=___
22=___ Na=___
BEf= . =_
42 = 16 =
52=__ V25 =___
62 =__ 36 =
hs 49 =
82 = V64 =
92 = V81 =

Example 3:
Evaluating expressions involving
square roots.

EXAMPLE @ Evaluating Expressions Involving Square Roots

Evaluate each expression.
a 536+7= 56) 47 Evaluate the square root



. Equations of the form ¥ = p where p is a positive number (like x2 = 16) will always have
how many real solutions?

. Equations of the form ¥ = » where » is a negative number (like x> = —12) will always
have how many real solutions?

. Write an equation of the form x> = » where » is a real number that has exactly one real
solution.

Solve the equations below. If the equation has no real solutions, write, “No real
solutions.”

=64
x2=25
xt=7
x2=3
22 =242
5x2=125
x2=-100
3x2=63
x2+8=57
P¥+12=1

1. Equations of the form x? = p where p is a positive number (like x* = 16) will always have
how many real solutions? 2

2. Equations of the form x? = 5 where » is a negative number (like x? = —12) will always
have how many real solutions? 0

3. Write an equation of the form x? = » where » is a real number that has exactly one real
solution.

x=0

4. Solve the equations below. If the equation has no real solutions, write, “No real

solutions.™

x2=64 x=418
x*=25 x=45
xt=7 x=+/7
xt=3 x=+/3

22=242 x=%11
5x2=125 x=4%5

x=-100 No real solutions.

x2+12=1  No real solutions.

42 +1=17 x=+2






